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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the folléwing questions :
1x10=10

Coq PR R @Il w2 Teg fi

(@) Mention one feature of international
trade.

HESied AT GBI (I8 TrEy 41 |

(b) What is international economics?
RS S &2

(c) What is meant by comparative cost
differences?

TANAS I (19T KA R e a2
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(2)

(d) Give one essential element of
Heckscher-Ohlin theory of international

trade.
CIAR-N'TR WEREE G ©EoR Wil
SRR Som= o o

(e) What is meant by Leontief paradox?
P efowr ivg w17 & g= @2

(/  How does economies of scale affect
international trade?

TfAfes oo v wEsfess At
HSANRS FCI ?

(g9 Who developed the technological gap
model of international trade?

e IfwR gfERnor 1 wfEH @E
TAS IR 2 |

(h) Define multinational enterprise.

IS SramsR s |

(i Give one argument in favour of free
trade

& &R ForF 91 LS fram |

() Mention one objective of trade
restriction.

Ffien FazeR 9o Sowen BrE 11
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(3)

(k) What is political argument for trade
intervention?

e 2R IR I & 2

() What is protection trade?

afrs arfde 2

(m) Define flexible exchange rate.

siffadae R =1 sise faa |

(n) What is foréign exchange market?

It f[Rfew 3w 2

(o) State one main feature of European
Monetary System.

TR @ IRYR 91 o I Bra 40

2. Answer the following questions in brief (any
five) : 2x5=10

were fran ereiRR 5 B fran (R ceereen #Hiebn) -

(a) Write two subject matters  of
international economics.

TEHfee WYY 151 R o 1,

(b) What is meant by pattern of trade?
i g9 W & @ 3w 2
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(c)

(d)

(g)

(N

22A/868

(4)

Distinguish between complete and
incomplete specialization.

o oF SPToe RSl Ters nef fAefy
1

Mention two assumptions of Heckscher-
Ohlin theory of international trade.

FR-'R SEERE Afw ogoR 1o
SfSyRen TrE 49 |

What is international product cycle
theory?

HBHSF BATH bF GGl 3 2

Is there any relevance of the theory of
comparative cost advantage in a globally
integrated world? Give two arguments.

qfae R4S o IR gomes Ruew
I SGOR APEFS] SieRe ? 161 & fan |

What is financial globalization?
& eI 2

Mention two causes for the downfall of
Bretton-Woods system.

E5A-BEb SR o= o1 IR Ty I |
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(S)

3. Answer any four of the following questions :
S5x4=20

g oA B e vifeorR e -

(a) What are the reasons for international
trade? Explain.

TEEfes ATt FRIER &2 Im F]40

(b) Explain the reasons which led to the
evolution of international economics as
a distinct branch of economics.

S @B =@ a1 RBowd S
NS FARIFRE FRFTR WA A1

(c) Discuss the validity of Ricardian
comparative costs theory in developing
countries.

TwERE oo RITE’I TeIEE IW SGIOR
PRI SCALAT 1 |

(d) Explain the localization theory of
international trade in brief.

HEHST AT FAAIIT OGO LT M
01

(e) Distinguish between free trade and
protection.

& e wF RAFFe ISR TS AL
fRefm 1)
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(6)

(0 Explain the meaning of tariff. What are
the main types of tariffs?
wed WY PRI T VHI YA AFFR
&2

(g) Distinguish between tariff barriers and
non-tariff barriers.

¥s At WE TH-wE AfSIme TEe
of1efF] AT 391 |

(h) In what way is the equilibrium rate of
exchange determined under fixed
exchange rate system?

1 R we Rve s RS ==

fRdife = ?
4. Answer any four of the following questions :
10x4=40

were fia 2rzd R @ wiikerR Tes o

(a) Explain clearly the Ricardian
comparative costs theory of
international trade. 10
RITE’T TRHTSE AT PeAREe T4 OGOl
=o{BLF I 41 |

(b) “Factor proportions and factor intensity
provide the basis for export
specialization.” Explain. 10
oA TS W TAMAI AREN IR
Ro@ier & 1 amm 311
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(c)

(d)

(e)

(9)

22A/868

(7))

Discuss the superiority of Heckscher-
Ohlin theory over the Ricardian theory
of international trade. State the limita-

tions of Heckscher-Ohlin theory. 5+5=10

e’y wEEfes iy oged @@R-Nfem
TGOR  CPSl @Dl 911 (TR-S P

©GoR HiamerHR Sy 41 |

State and explain the technological gap
model of international trade.

wEEfee IfieR GfERUr ¥ ogn TEy
1 S I FA '

Describe the main stages in the product
cycle model.

AT 5F OGO To1 BFTR A AT |

Analyze the effects of tariffs in a partial
equilibrium system.

WP ST IIES WEY o) Roemd 331 1

Explain clearly the concept of optimum
tariff. @ Establish the relationship
between elasticity of offer curve and

10

10

10

optimum tariff. 4+6=10

I WEY YREMCOT S4BE I T | TR
IFT BfSgree 9 I W THo T4
Tl 341 | '
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( 8)

() Compare the effectiveness of tanif and
quota as weapons of trade restrictions. 10

e PrgR e Bone s W sAfemd
Rfe ITER IRFILO! Tl F41 |

(i How was equilibrium exchange rate
determined under gold standard? What
were the reasons for the collapse of the
gold standard? 7+3=10

Ffyee SR e RN T @
Refie t2fEe 7 F6W IRF o IRPR
IR ? :

() Discuss the key reasons for the
interpational financial crisis. What are
the effects of the international financial
crisis? 6+4=10
aREee RS EHY To FRPHR AL
31 | SREfes R 161 deremz & 2
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